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Make your own 

equation.

 - 8 = 

Circle the number that is 
largest.

9,900    9,009

9,090

8 ones, 6 thousands

Round 38 to the nearest 10. 5 + 1 - 1 - 3 2 more than 742

Circle the even numbers.

54   52   88   47

41   65   40   56   33

49   55   76   79

Emma has a bowl.  She 
puts 8 nickels into the bowl.  
Robert sees the bowl and 
takes 4 nickels.  How much 
money (in cents) is left in 
the bowl?

How many odd numbers 
are there between 33 and 
52?

The party is at 4 p.m.  In 
only 12 minutes the party 
starts.  What time is it right 
now?

A small town has a lot of 
people.  Which number 
might make the most sense 
for the population?

4
284
1,144
2,446
64,466

k,  A,  N,  k,  A,  N,  k,  A,  

N,  k,  ,   N
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55 - 7
12 - 1

2

+6+1 1
2

-13

+43 -25 66 5
12 +14

- 7
12

-4 9
12 - 1

2

+27

+46

+ 1
2 148 1

12

This is the look at one cube
that is turned around a few times.

M
J

C

J
K

C

X
B

M

This pattern can be folded into
the cube.  Fill in the missing boxes.

K
B X C

What temperature is seven 
degrees above freezing in 
Fahrenheit? Hint: The freezing 
point in Fahrenheit is 32 
degrees.

due

doo

deu

dou

Write the ordinal number that 
comes after forty-fifth.

windoow

windaw

winow

window

How many 8s are in 80?

What are 43 thousands equal 
to?
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30 =  tens

660 =  tens

490 =  tens

5,240 =  tens

The denominator of a fraction is six.  The numerator of a fraction is two.  Write the fraction.

Draw a pizza pie showing this fraction.
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Rosa wants to go to the 
juggling show. Tickets 
cost $1.75. She has 4 
quarters and 2 nickels. 
How much more money 
does she need?

Mrs. Wilson needs 13 
bees to start a colony. 
She wants to make 3 
colonies. How many 
bees does she need in 
all?

Mrs. Smith used an 
equal number of apples 
in each of 4 pies. She 
used 20 apples in all. 
How many apples did 
she use in each pie?

8

14

8

14

The perimeter is .

Color 22
100 .

2 10

Round the number to the
place value of the BIG number.

55,691,664

Would you use a ruler or a 
yardstick to measure the 
length of a door?
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Write the length in centimeters.

cm 1 2 3 4 5 6

What number is one 
thousand more than 8,831?

3 1 + 2 2 =

3
4

567
8
9
10

11 12 1
2

current time

3
4

567
8
9
10

11 12 1
2

5 minutes later

There are six cars parked in a 
row exactly the same 
distance from each other.  
The first car is 26 inches from 
the second car.  The first car 
is 52 inches from the third car.
How far is the fifth car from 
the third car?

Holly and April are 
making teddy bears. They 
will take the teddy bears 
to the Children's Hospital. 
Sick children will get the 
bears. So far they have 
made 13 bears. They use 
2 buttons on each bear's 
shirt. How many buttons 
have they used in all?

skol

scool

school

skooll

In the number 914,587, what 
digit is in the thousands place?

What are the first four 
multiples of 6?

Add one hundred to 457.

Write the number for 
three thousand two 
hundred ten.
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Fill in the boxes so each line equals 13.

13

17 -

13 x

÷ 4

( + 6 ) +

Share 15 equally among 3.

The factors of 12 are 1 4
If A = 6, then what does A + 
5 equal?

Write the length in inches.

in. 1 2 3 4 5 6

3 x 2 = 2 6
+ 3 2

Which is larger, 1
6 or 2

6 ?
7 2

- 4 9

What polygon has ten sides?

Fill in the missing fraction.

1
6 , , 3

6 , 4
6

Can you think of a five-letter word 
that has the vowel O in it?

goelt

giult

guilt

guil

You ask Amanda for the time. 
She says it is four minutes past 
two.  Write the time on your 
digital clock:
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328
- 554

548
+ 484

654,1
- 705

447
- 884

949
+ 457

459
+ 629

361
+ 528

266,1
- 157

232,1
- 434

054
+ 725

298
+ 177

013,1
- 089

274
+ 203

966
+ 797

091,1
- 057

565,1
- 038

477,1
- 819

978
+ 617

768
+ 727

157
+ 073

293,1
- 658

377
- 451

172
+ 547

962
- 711

184,1
- 669

020,1
- 013

415
+ 437

469
+ 575

638
- 696

559
+ 908

967
+ 633

139
- 283

242
+ 574

112,1
- 145

994
+ 331

1
+ 3

+ 5

+ 2

11
+

91
+

12
- 7

+ 2

+ 6

22
-

61
+

02
+

32
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1 8 0 4 4 9 + 2 7 + 3 = 4 7 1 =
+ 3

Use the pieces above to help you fill in the runaway math puzzle.

2 0

4

+ 1

5

Fill in the blanks with
these numbers:

0, 2, 4

9

3

+ 3 0

9

Fill in the blanks with
these numbers:

9, 0, 3

What is the value
of the BIG digit?

932,441

What is the prefix of the word 
misspelled?

2

+ 6 = 0 + 7 1

9 +

+ + 6 + =

4 + +

= = 1

1 + 1 0 = 8

8 1

4 2 = 6
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What is the missing digit?

157
75-
481

457
614-

What must be added to 47 to get 53?

2 100 53 6

What must be added to 73 to get 80?

131
54-

00001
8352-

7 tens - 3 tens =  ______tens

6 4 90 0

150 tens - 110 tens =

40 hundreds 4 tens

40 tens 40 thousands
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9 hundreds - 4 hundreds =  ______hundreds

5 8 4 70

What must be added to 5 to get 20?

13 15 18 19

12 tens - 6 tens = 6 ______

thousand one tens

ten

What is the missing digit?

67721
778-
9973

34
63-

What must be added to 5 to get 18?

18 15 13 12

What must be added to 53 to get 60? 13 hundreds - 9 hundreds = 4 ______

thousand one hundreds

ten
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triple 10 = 
15,  20,  ,   30,  35,  

40,  45,  50,  55,  60

Emma has 20 nickels.  How 
much money is that?

David earns $22 an hour.  
He worked 3 hours.  How 
much did he make? ___ ÷ 7 = 7

12 x 8 - 6

8 x ___ = 40 = ___ x 20

8 x ___ = 96 = ___ x 24

8 x ___ = 32 = ___ x 2

8 x ___ = 96 = ___ x 32

10 x ___ = 30 = ___ x 15

Name the shape with three 
sides and three angles. D,  F,  H,  J,  L,  N,  

,   R,  T,  V,  X,  Z

The number 63 is more 
than the number 8 by how 
much?

How many total legs are on 
6 chickens?

At 1 p.m. today, Ava will not 
be able to use her 
electronics for 2 hours.  At 
what time will she be able 
to resume using her phone?
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Help Robot find Rover.  Make a path of increasing 
products.  You can only move to a box with a larger 
product.  Draw a line to show your path.

6 0
x 8

8 1
x 6

2 8
x 7

9 9
x 9

8 7
x 7

5 7
x 8

8 2
x 8

6 2
x 8

2 5
x 2

3 5
x 2

4 8
x 3

2 6
x 6

7 9
x 2

2 3
x 7

5 6
x 3

8 7
x 2

9 6
x 2

7 8
x 4

3 5
x 8

5 5
x 5

5 4
x 5

5 2
x 5

4 0
x 6

3 4
x 7

4 4
x 5

6 7
x 3

5 3
x 6

8 8
x 5

1 4
x 7

3 3
x 5

1 2
x 9

7 0
x 6

6 2
x 7

6 9
x 9

3 0
x 5

5 5
x 6

3 7
x 9

3 8
x 9

8 8
x 4

8 7
x 6

6 6
x 8

8 3
x 4

2 0
x 9

3 8
x 2

9 0
x 3

2 1
x 3

6 3
x 9

9 4
x 4

6 3
x 6

6 4
x 6

4 3
x 9

9 2
x 4

9 3
x 6

4 5
x 9

7 6
x 7

7 3
x 8

9 0
x 5

1 8
x 7

6 0
x 3

6 6
x 7

6 4
x 8

7 6
x 7

3 1
x 2

8 0
x 4

2 7
x 2

8 5
x 3

9 6
x 9

5 0
x 9

4 8
x 6

4 0
x 2
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ACROSS

4. The thousands in 4-Down

6. Sum of digits of 18-Across

8. 5 + 12
9. Nickels in one dollar

11. 7 + 13

14. Nine less than 1-Down

16. Nine less than 18-Across

18. Four times 9-Across

20. 6 + 13

21. 4 + 18

22. 8 + 8 = 2 x ____

DOWN

1. 6 + 11

2. the tens in 18-Across + the ones in 22-Across + the 
ten thousands in 3-Down

3. eighty-four thousand one hundred fifty-eight

4. one thousand five hundred six

5. Sum of digits of 8-Across

7. Six times 11-Across

8. Sum of digits of 4-Down

10. Six tens more than 17-Down

12. the tens in 2-Down + the ones in 15-Down + the 
thousands in 3-Down

13. Eight times 8-Down

15. Six times 8-Down

17. Seven more than 8-Down

19. Six times 22-Across

1 2 3 4 5 6

7 8

9 10 11

12 13 14

15 16 17

18 19 20

21 22

Write 541 in expanded 
notation.

The sum of two whole 
numbers is thirty-three.  The 
difference between the two 
numbers is three.  What are 
these two numbers?
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